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March National      Maths Calendar 

#abitofmathseveryday 
2 ∙ 1 × 1012 

metres 

No since 
  

6922∙24 ≠ 7616∙5 

m = ½  
c = 5 

a = 5 
b = 6 

2
1

12
 𝑥 > 1 𝑦 = −𝑥 − 1 

Interior = 140° 
Exterior = 40° 

 x = -2  
and 

x = 4 
𝑐 = 𝑎 𝑏 − 𝑑 6𝑘3  y = (x - 5)²- 24 

  3𝑥3− 25𝑥2 
+ 36𝑥 + 14 

0∙84375 m³ 9 2 25 
𝑥 = 7 

𝑦 = −8 
𝑥 − 8

𝑥 + 3
 £115 205∙20 

0∙3 mm  t = 4, -4 
y-intercept (0, 3) 
min T.P. at (1, 2) 
x = 1 

 x = 196·6°,  
 x = 343·4° 3∙87 
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50∙6 mm 3𝑥 − 34

(𝑥 + 5)(𝑥 − 2)
 3𝑐 + 7 (𝑐 − 1) £200 26∙1 cm 299 


